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Office / Stores Attendant (Multi-Tasking)

Negative

Sr. No. Question with Answer Key Marks Marks

Objective Question

1 'Meghaduta' is a lyric poem written by which among the following Poets? 1.0 0.25

Hoga Fafaed § 9 f5a sfa gr1 I o e g2

Surdas

W

2 Amar Simha

3R Ryegt
A3 . .
.~ Kalidasa-(Correct Alternative)
.A4 Panini

grfort

Objective Question

A

2 Which among the following rulers of the Vijayanagara Empire belonged to the Tuluva dynasty? 1.0 0.25

fIorTR wTHTa & Fafafed It § I ®1F Jqd Ias &1 4T

1 Tenali Raman

GEINEGE]

.AZ Krishnadeva Raya -(Correct Alternative)

PWIGT I

3 Ramachandra Raya

S I

.A4 Bukka Raya

gdh Y

Objective Question

3 Who wrote the famous historical work 'Ain-i-Akbari'? 1.0 0.25

TG UfaRTRI® Hia 3MgH-T-rpadt frga T 82

{U Al-Biruni

3 S5

'A2 Gulbadan Begum

Tse SH
.A3 Ibn Batuta

EEEG

.A4 Abul Fazl -(Correct Alternative)

S GRS
Objective Question
4 When was the Civil Disobedience movement launched by Mahatma Gandhi in India? 1.0 0.25

HRA | HTHT Mt GRT G 3T Sicier De Y= a1 77 412

Al 1905

1905
{&2 1930-(Correct Alternative)

1930
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A3

1920

1920

A% 1942

1942

Objective Question
5 In 1912, the newspaper 'Al Hilal' was launched by: 1.0
1912 H, AR U= 3{e] feairer fbdras gRT == fobam mar o

Al Badruddin Tyabji

JESEH dush

A2 Raja Ram Mohan Roy

ST I {1 I

'A3 Kashinath Trimbak Telang
PHIRMATY hH daT
fA4 Maulana Abul Kalam Azad-(Correct Alternative)

ST 3ge HATH TG
Objective Question

6 Which among the following monumental Structures was built by Mughal Emperor Akbar to commemorate his victory over Gujarat? 1.0

frafafed # § - WRS T TR T JHIE HHaR = ORI W U i & Iuasd & a9ars

AI Alai Darwaza

QTS TIaTol

2 Buland Darwaza-(Correct Alternative)
qeiq GRare

.A3 Charminar

IRUAR

A4 Lal Darwaza

NISEREISI

Objective Question

7 Who among the following is the guardian of the rights and privileges of the members of Lok Sabha? 1.0

TAHIHT & Taril & USRI IR ARWRBRI 1 WRere FHaferiad § ¥ S gial 82

_Al Prime Minister of India
YR & g J4t
.A2 Supreme Court of India

YR BT Jated e

.A3 Speaker of Lok Sabha-(Correct Alternative)

AIBIUT A&
{3‘4 Leader of Opposition in Lok Sabha
AHTHT H fques o =
Objective Question
8 How many Lok Sabha General Elections have been held till November 20227 1.0

JIR 2022 T fHd BT 3 A1 U §?

Sixteen

RINH

{3‘2 Fifteen

Uss

f&3 Seventeen -(Correct Alternative)
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LE
{3‘4 Eighteen

3{ORe

Objective Question

9 Who was the first Speaker of the Lok Sabha? 1.0 0.25

ANBIHT P UYH 3H& BT A2

{U Hukum Singh

gpu e
:A2 Ganesh Vasudev Mavalankar-(Correct Alternative)
OIS ARgCd ATTADH
K. S. Hegde

&. TH. 5e

.A4 M. Ananthasayanam Ayyangar

A3

TH. AR R
Objective Question

10 When was the last fundamental duty added to the Indian Constitution? 1.0 0.25

YR Sfaem 7 sifay Mifere wdon wa SieT T Um

{3‘1 1995
1995
A2 .
. 2002-(Correct Alternative)
2002

.A3 1986
1986
54 1965

1965
Objective Question

11 Who among the following described the Directive Principles of State Policy as a novel feature of the Constitution of India? 1.0 0.25

T4 & Hifd e Rigial & YRd & Ifau™ &1 te 9diH faRivdr & =0 & fAufafed o @ fega aftfa fasam

{U B. N. Rau

§l. T. 1@

{X2 Motilal Nehru
EIRINISERES

B. R. Ambedkar -(Correct Alternative)

o1, 3R, FASHR

54 K. M. Munshi

&. 7. =it

Objective Question

A3

12 Which of the following articles of the Indian Constitution deal with the parliamentary system of government at the Centre? 1.0 0.25
YR Tfem & Fofied 3 4 oH-9 siiwie 9% 8 WHR &I J9eg Joure § Jafdd g2
AI Articles 52 and 53

TG 52 3R 53

2 Articles 74 and 75 -(Correct Alternative)

3G 74 3T 75

Articles 82 and 83

3T 82 3R 83

A3
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.A4 Atrticles 90 and 91

TS 90 3R 91

Objective Question

13 The UNESCO World Heritage Site 'Fatehpur Sikri' is situated in which of the following states? 1.0 0.25

AT (UNESCO) fay tRIeR Wd W R Wt Fufefad o 9 forg g o fRia g2

! Rajasthan

XTSI
_AZ Gujarat

{%3 Madhya Pradesh

e U

_A4 Uttar Pradesh-(Correct Alternative)

JTR WS

Objective Question

14 Bihu is a folk dance of which of the following states? 1.0 0.25

fog Fraffa 7 3 fra T w1 de O 82
! Assam-(Correct Alternative)
IHH

{X2 Kerala

A

3 Odisha

anfszm

_A4 Gujarat

A

Objective Question

15 Who was the founder of Vishishtadvaita philosophy? 1.0 0.25

fafTgd g3 & TRIUS B A2

{U Kabir

PR

'A2 Gautama Buddha
ity 9

1.43 Ramanuja-(Correct Alternative)
A4 Guru Nanak
T2 AT

Objective Question

16 Gatka is a traditional martial art form associated with which of the following states? 1.0 0.25

a1 Udh URUNS HIRId 3¢ Rl &, T8 FHufarad & § forg IToa 9 defid g2

! Manipur

AR

.A2 Bihar

fogR

.A3 Punjab-(Correct Alternative)
CEIC)

_A4 Karnataka
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Objective Question
17 The book Lilavati was written by . 1.0 0.25
NIKICRIRSED ERANICIKIERIT

! Brahmagupta

STeTd

{%2 Aryabhata

3mgHg

.A3 Ashwini Kumar

Y $UR

Bhaskaracharya-(Correct Alternative)

HIRBTAT

Objective Question

A4

18 Who among the following was the founder of Ajivika sect? 1.0 0.25

fFaffad & T sieiifae Tuer o TRITIS DI U1?

AI Vallabhacharya

JeAHRTT

2 Siddhartha Gautama

Ry Maw

_A3 Vardhamana Mahavira

CREIE RGN

'.A4 Goshala Maskariputra-(Correct Alternative)

TRITET TP

Objective Question

19 Which of the following Passes is located in the state of Sikkim? 1.0 0.25

e § 3 SH-a1 o= Rifews Iou § R 82

A

f&l Jelep La-(Correct Alternative)

LA

.AZ Zoji La

SISiKSll

A3 Bomdi La

SHS! o

{3‘4 Rohtang La
AT
Objective Question

20 Indian Standard Time is ahead of Greenwich Mean Time by: 1.0 0.25

YRATT A 0, T HH egA Mgl

{U 2 hour 30 Minutes

2 %¢ 30 e

{3;2 3 hour 30 Minutes

3 4¢ 30 fiAe
_A3 4 hour 30 Minutes
44e 30 fime

iA4 5 hour 30 Minutes-(Correct Alternative)

5°¢ 30 e
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Objective Question

1.V V.LO

21 Nainital Lake is situated in which of the following states/UTs?

Ffare sha Fafafad 3 3 i Isa/dg IR vew § R 32

Jammu and Kashmir

T 3R HIHR

{X2 Himachal Pradesh

fermaa uew

f&3 Uttarakhand-(Correct Alternative)
IWIES
:A4 Punjab
LEIE]
Objective Question

22 Krishna Raja Sagar Dam is built across which river? 1.0 0.25

FURTS AR 1Y {5 7 TR T T 82

! Ganges
T

'A2 Godavari

UIEER]

Krishna

e

.A4 Kaveri-(Correct Alternative)

ST

Objective Question

A3

23 Which City is known as financial capital of India? 1.0 0.25

Fraffed § 9 S1F-91 TeX YR 3t fa<ha Ieiart & &0 & S Sidm 82

Mumbai-(Correct Alternative)
.A2 Bengaluru

.A3 New Delhi

8 faett

_A4 Surat

Al

W

Objective Question
24 Which of the following Coalfields is located in the state of Jharkhand?

fFgfifad & Q SH-91 Igdr 87 IIRES Iy § T g2

1.0 0.25

AI Korba Coalfield

PHRET B &

{&2 Bokaro Coalfield-(Correct Alternative)

PRI HIge &=
3 Singareni Coalfield
R T &=t

A% Neyveli Coalfield

ML IRE]

Objective Question
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25 Which is India's first credit rating agency?

YR 1 UGl shise ST Toiell -l &2

Al 1cRA
SMEISRT (ICRA)
{3‘2 CARE

HITSIRS (CARE)

{3‘3 SMERA

TUUAS3RT (SMERA)

A4 .

. CRISIL-(Correct Alternative)

fopfre (CRisIL)

Objective Question

26 The minimum amount to be remitted through RTGS is: 1.0 0.25

RS (RTGS) & AT F Voll S Feb arett =gAaH AfA gl

Al 2 50000
z 50000

A2 % 1 Lakhs

21 dd
A3 .
. X2 Lakhs-(Correct Alternative)
227
A

4 % 3 Lakhs

337
Objective Question

27 What is the period of Second Five year Plan of India? 1.0 0.25

YR B gORI TSI TioTT &7 3afe -3t g2

Al 1952 16 1957

1952 ¥ 1957 A
A2 1953 10 1958
1953 ¥ 1958 dh
A3 1954 10 1959
1954 9 1959 A

.A4 1956 to 1961-(Correct Alternative)

1956 T 1961 AP
Objective Question

28 | Which of the following Reports is published by the World Economic Forum (WEF)? 1.0 0.25

fFofefad & 9 H-d RUd fay sffe w9 (WEF) GRTUIRId &1 S 82

{M World Energy Outlook

fay Sort uRE=T (313eqH)
2 Global Competitiveness Report-(Correct Alternative)

Af¥re uferequferear fard

{B Global Financial System Report

Afyes faita gormed Rad

World Happiness Report

fay gRreTaR Ui

Objective Question

A

A4

29 Where was Asia's largest four metre International Liquid Mirror Telescope located? 1.0 0.25
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TR &1 Had F91 IR HIeR SIRTPH forfebs iRz Cefiepiu gl Ry um

{&1 Uttarakhand-(Correct Alternative)

IWES

.AZ Tamil Nadu

GIEGEIS]

AS Himachal Pradesh

fermaa e

{3‘4 Jammu and Kashmir

TR 3R HIHR

Objective Question

30 An indigenous data link created by the Indian Air Force (IAF) is called

! Vayulink-(Correct Alternative)

.A2 Data India

Sersfean
Bharatlink
HRdfcidh
A% Arlink
TRfci

Objective Question

A3

31 What is the name of the world's first radio platform powered by AI?

Al ERT I1ferd fay & uga Ied WewhH o1 1 91 82

_Al RadioGPT-(Correct Alternative)

ELITINI (RadioGPT)

A2 EMGPT

THUHESUICT (FMGPT)

3 MarconiGPT

T Syt (MarconiGPT)

.A4 National GPT

AFSIGIET (National GPT)

Objective Question

32 What is the name of India's first cloned Desi Gir female calf?

HRA PI Ugel Tl <t AR AreT sfyan &1 o 91 82

! Ganga-(Correct Alternative)
i II

{X2 Laxmi

Sl

3 Durga

Al

_A4 Bhoomi

e

Objective Question

33 Which of the following international organisations is a military alliance group?

fFrafafed o 9 oIF-a1 SR ffia e Te ¥ Tae e 9ig 82

YR a1 IT (IAF) §RT §91U 7Y WeRi Saf feidh &1 Eb_s’[\_rﬂ?ﬂ%l‘

1.0

1.0

1.0

1.0
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'.M North Atlantic Treaty Organisation-(Correct Alternative)

.A2 Trans-Pacific Partnership

R - U HRfieRY

European Union
QUG gy
.A4 Amnesty International

Objective Question

34 Which of the following is one of the official languages of United Nations? 1.0 0.25

FofRed & 9 -t |, S Y 3 SR wwrell # 9 U@ 52

Arabic-(Correct Alternative)

3R

_AZ Hebrew

feg

Tamil

dferet

A4 German

SHA

Objective Question

Al

35 The International Court of Justice is composed of how many judges? 1.0 0.25

SRS =marer & fram mandier g1 82

I 10 judges
10 graTefier

2 15 judges-(Correct Alternative)

15 grardi=r
{3‘3 20 judges
20 AT
:A4 25 judges

25 g

Objective Question

36 Where is the SAARC Secretariat located? 1.0 0.25

T (SAARC) IfIarerg el fRud 82

AI Dhaka

[Hcal

{&2 Kathmandu-(Correct Alternative)

PIGHIg
3 Islamabad

ERNIEIEIF
4 Colombo

EIRCl

Objective Question

A

37 The United Nations Security Council consists of how many non-permanent members? 1.0 0.25

Tga AP GRef uREE & fore ot wew g 8
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Al

Five

A2 Seven

A3 Eight

3MS

‘_A4 Ten-(Correct Alternative)

o

Objective Question

38 BIMSTEC - a regional organization came into being in 1997 through

fSTIC¢® (BIMSTEC) - Ud 8301 6 1997 | %mm@(&ﬁc—q’ﬁ&ml

{M Kyoto Declaration

ERICERG I

'AZ Geneva Declaration

fSrraT gom

A3 Helsinki Declaration
RUREReINwl
A4 . .
. Bangkok Declaration-(Correct Alternative)
die gryon
Objective Question

39 Which of the following institutions launched India's first municipal bond index?

FrafeRad # 9 fod TRIM A YR &1 Ugdl TRUTDT Sis Jeebich ol a2

! Bombay Stock Exchange
S Wi TeRFelsT
:A2 National Stock Exchange-(Correct Alternative)
A TP THIae
3 Reserve Bank of India

YR Rord dop

State Bank of India

YR ®e db

Objective Question

Ad

40 Who was selected as external auditor of International Labour Organisation?

SITRTPT 3H T3 & STex] el Wiareh & wU # b g1

I Girish Chandra Murmu-(Correct Alternative)
s o 4,

{3‘2 V.Narahari Rao

dt. ReRk @

3 Rajiv Mehrishi

NEIER T
{3‘4 Shaktikanta Das
RUCKEIRKAR]
Objective Question

41 Sinthan snow festival of 2023 was hosted by which state/UT?

2023 o1 Ry Fl hRead [y Isa/dhs MR U= gRT fraiford faear mar ume

{&1 Jammu and Kashmir-(Correct Alternative)

1.0

1.0

1.0

1.0

GET IT ON
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0.25

0.25

0.25
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S 3R HRHR

{3‘2 Himachal Pradesh

feHTd gew

.A3 Uttarakhand

A4 Ladakh

NEUT]

Objective Question
42 Which country proposed the International Big Cat Alliance (IBCA)? 1.0 0.25

Fafafea 7 3 frg 32 3 SexARHd {971 e Tarid (IBCA) BT U1 3@

{&1 India-(Correct Alternative)

HRd

.A2 United Kingdom

gz fobtrsH
,A3 Unites States of America
Y T SHRBT
{3‘4 France
g
Objective Question

43 Which country hosted the first international conference on 'Shared Buddhist Heritage'? 1.0 0.25

Prafeife 2 R 313 T2l dig RRRTE R Uga SieRise e & Aser #

Al Nepal

auTd

_A2 India-(Correct Alternative)

HRd

_A3 China

EGl

.A4 Bhutan

HeA

Objective Question
44 Who won the title for Miami Grand Prix 2023? 1.0 0.25

feraret g Oy 2023 &1 Raare feam siam

{3‘1 Sebastian Vettel

.AZ Lewis Hamilton

NERA G|

.A3 Max Verstappen-(Correct Alternative)

AT AU

{3‘4 Fernando Alonso

WS St
Objective Question

45 When is Green Consumer Day observed globally? 1.0 0.25

fay TR R gRa SuHiear iRad & 7= a1 32

{U st June

oyl
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.AZ 22nd April

22 3

.A3 28th September-(Correct Alternative)

28 Rydaw

.A4 21st March

21 A

Objective Question

46 Vienna Convention is related to the: 1.0 0.25

o e frae Tefda g2

{U Reduction of Greenhouse Gases
Hered Tl o ot

A2 Reduction of Mercury Contamination

URT dguur & S
f&3 Protection of Ozone Layer-(Correct Alternative)
S TR BT AT

.A4 Reduction of persistent organic pollutants

R HEHD Ugud! | HHT
Objective Question

47 The Aichi Targets are associated with which of the following conventions? 1.0 0.25

&n'éa? & (Aichi Targets) frgfoiaa o 9 forg weq O defed %?

{3‘1 United Nations Convention on Biological Diversity

Sifde fafder R Igad g gHeH
.A2 Convention on Biological Diversity-(Correct Alternative)

e fafaudr v awie=

A3 United Nations Convention to Combat Desertification

YA Y AR HRUT ABYTH TR
{M Vienna Convention

oo W

Objective Question

48 Which of the following national parks is the natural habitat of the Asiatic Lion? 1.0 0.25

ForAferRe & & 1.1 T ST TR 2R a1 e vt &7

{“ Guindy National Park

{3‘2 Saddle Peak National Park

a1 tie g 3T

Papikonda National Park

UftepTeT A1 I

4 Gir National Park-(Correct Alternative)
iR wfta S

Objective Question

A3

A

49 Which of the following converts ozone into oxygen molecules in Stratosphere? 1.0 0.25

A Hed H 3N & SHTRfier supeft #f fAgfeiad & @ @ uRafdd sar g2
.Al Chlorine Atoms-(Correct Alternative)

FARI URHAT]

'AZ Hydrogen Atoms
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51

52

53

247

A3

The Kyoto Protocol is an international agreement adopted in 1997 that aimed to reduce:

BIS S URATY]

Nitrogen Atoms

SIS URATY]

Xenon Atoms

R TRATY

Objective Question

HICI TICIpId 1997 H SO T U SR iSTa aweidl &, forgaT Seva

! Ozone Depleting Substances

A2

KNciegaucariieratlii

Greenhouse Gases-(Correct Alternative)
WH-grew At

Mercury Contamination

TR HGH0T

4 Persistent Organic Pollutants

R HEHS UguD!

Objective Question

What value should come in the place of question mark (?) in the following question?
(42%x42x42)+(14x14x14) =?

Frafafad uy & uy-fag (2) & R R SH-91 9 {11 31fgu?

(42x42x42)+(14x14x14) = ?

Al
A2
A3

A4

27-(Correct Alternative)
27
29
29
31
31
33

33

Objective Question

What value should come in the place of question mark (?) in the following question?
(6400+22421) + 7 =739

Frafafeag uy & uy-fog (2) & R R SH-91 9 3141 =1fgu?

(6400+22421) + 2 =739

Al

A2

A3

A4

35
35
37
37
39-(Correct Alternative)
39
41

41

Objective Question

What value should come in the place of question mark (?) in the following question?
? X (227+23.5) = 12525

ot uy & uy-fog (2) & WM R SH-91 94 31141 =nfge?

? x (227+23.5) = 12525

Al

40

40

B HH BT

1.0

1.0

1.0

1.0
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fAz 50-(Correct Alternative)

50
53 60
60
54 70
70
Objective Question
54 | Find the value of (27 + 2.7 + 0.27 + 0.027 + 0.0027). 1.0 0.25
(27 + 2.7+ 0.27 + 0.027 + 0.0027) &1 A F1d B
f"l 29.0997
29.0997

A2 19997

29.997

.A3 29.9997-(Correct Alternative)

29.9997
A

4 29.087

29.987

Objective Question

55 Evaluate: 1.0 0.25
[(0.4%0.16)+(0.5%0.8)]/(0.2x0.2) = ?
i Hifog|
[(0.4%x0.16)+(0.5%0.8)]/(0.2x0.2) = ?

fM 11.4
11.4
{&2 11.6-(Correct Alternative)
11.6

'AS 12.5
12.5
{3‘4 13.2

13.2

Objective Question

56 Express 24% as a fraction. 1.0 0.25

24% B! 1 & ¥ U H gad BT

Al g5

8/25

{X2 12/25
12/25
I.A3 6/25-(Correct Alternative)
6/25
A% 3150

3/50
Objective Question

37 The number 0.79 is how much greater than 3/4? 1.0 0.25

T 0.79, 3/4 Q fpat a1 &2

Al 1100
1/100

A2 1500



https://applink.adda247.com/d/XhqWf9lSap

Addal247

1/500

A3 50
1/50

fA4 1/25-(Correct Alternative)

1/25

Objective Question

58 A number when divided by 12, 16 and 22, leaves the remainder 13 in each case. Find the smallest possible number. 1.0

et T B & 12, 16 3R 22 A fIUIRTG far Srar 8, O Ul RS & Autrdt 13 ST 21 Ja BT FUIIT T8 J1d BT

Al 561

561

A2 617
617
f“” 541-(Correct Alternative)
541

A4 689

689

Objective Question
59 The LCM of two numbers is 396 and their ratio is 9:11. Find the two numbers. 1.0

3 TReAT3 T TYTH THTITY 396 8 SR IHT ST 9:11 81 SHI SBATE 1 Hiforg|

Al g 20
18,22

A2 9733

27,33

A3 4555

45, 55
A4 .
. 36, 44-(Correct Alternative)

36, 44
Objective Question

60 If the LCM of two numbers is 36 and their HCF is 7, find the product of the numbers. 1.0

e 3 Tl 1 agaH THIGH 36 § 3R IThT HeaH JHIAD 7 ¢, Al SReTsfl &1 UHHd 1d B |

Al 256
256
.AZ 252-(Correct Alternative)
252

A3 yag
248

A% a4

244

Objective Question
6l HCF of two numbers is 18, and their LCM is 361. If the first number is 171, find the second number. 1.0

3 GEmsft T HedH JHIGAD 18 €, 3R I TgaH JAIGH 361 8| afe Ugelt T 171 8, @ guRt T F1d Hiforg |

Al 4g

48
A2 g
42

.A3 38-(Correct Alternative)
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62

63

64

65

38

At 46

46

Objective Question

Find the HCF of 7/10, 8/24, 9/15.

7/10, 8/24, 9/15 T AETH AU D JTd HIfTT|

Al 1100

1/100
1.42 1/120-(Correct Alternative)
1/120

A3 17140
1/140
A 1160

1/160

Objective Question

Ratio between two numbers is 6:7 and their sum is 1196, then find the smaller number.

31 AT BT ST 6:7 § 3R ST ANT 1196 &, A1 BT WA 1d Piford |

Al 550

550
{&2 552-(Correct Alternative)
552
AS 554
554
fA‘4 556

556

Objective Question

Ratio between two numbers is 20:13 and their difference is 252, then find the smaller number.

3l GEafl T ST 20:13 § 3R 3T 3R 252 §, 1 St WeAT 1 diford |

.Al 468-(Correct Alternative)

468
A2 478
478
A3 488
488
A% 498

498

Objective Question

The ratio of three numbers is 12:11:13 and their sum is 864. Find the second number of the three numbers.

< TRe3T BT ST 12:11:13 § 3R ST AN 864 B | i1 sl & I guRt &1 J1d Siforg |

{U 254
254
{&2 264-(Correct Alternative)
264

A3 974
274

A% 934

1.0

1.0

1.0

1.0
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0.25
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284
Objective Question

66 Three numbers are in the ratio 8:10:9. The second number value is 280. Find difference between the smallest and the largest number. 1.0 0.25

<17 TReaft BT SUTd 8:10:9 § 1 GURT WA BT HM 280 | T BT SR T F1 WA & o9 R J1d Hiforg|

Al 54
54
,.AZ 56-(Correct Alternative)
56

A3 sg
58

A% 6o

60

Objective Question

67 | What percent is 501 of 2004? 1.0 0.25

2004 T fod=T ufa=rd 501 82

Al g
20

{&2 25-(Correct Alternative)

25
A3 39
30
A4 35

35
Objective Question

68 If 289% of X = 321% of 289, what is the value of X? 1.0 0.25
TS X BT 289% = 289 BT 321% B, dl X BT A fba-T 82

Al 9g
281
A2 991
291

,A3 311
311
.A4 321-(Correct Alternative)
321

Objective Question

69 A shop keeper had some rice bags in stock. He sells 80% of the stock and still has 1000 rice bags. How many rice bags he initially had? 1.0 0.25

TH GHMGR & U 919d $I $B S1ai Wi § Y| 98 80% TP aadl § R 3D I I1ad &1 1000 Skt 3t off A9 g1 Ry &
39D UM I19d &1 fba- aiar of?

Al 4800

4800
.A2 4900
4900
?3 5000-(Correct Alternative)
5000
?A 5100

5100

Objective Question
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70

71

72

73

74

Find the average of numbers 402, 7287, 401, 405, 397, 403, 393.
T3 402, 7287, 401, 405, 397, 403, 393 DT A JTd DT

I.M 1384-(Correct Alternative)
1384

52 1484
1484
53 1584
1584
,A4 1684

1684

Objective Question

Sardar obtained 67, 72, 85, 69 and 68 marks(out of 100) in English, Mathematics, Physics, Chemistry and Biology. What is his average
mark?

TRER 7 3{TSh, TN, Hifde!, I A iR Siafag H 67, 72, 85, 69 3R 68 31 (100 H ) U fhT| ST 3Nd 37 fobd- 82

Al 202

70.2
{\2 71.2
71.2
iA3 72.2-(Correct Alternative)
72.2
{%4 73.2

73.2

Objective Question

A Shirt is bought for Rs.520 and sold at Rs.566. Find its 50% profit.(in Rs)

TP T Rs.520 T WL St B 3R Rs.566 T S STl 81 FBT 50% TTH 1 BIOTE (Rs. H)

{U 21
21
fu 23-(Correct Alternative)
23

A3 s
25
At 57

27

Objective Question

An article is bought for Rs.798 and sold at Rs.542. Find its 50% Loss.(in Rs)

TP I Rs.798 T WIS STt & 3R Rs.542 T S ST 8 | TTBY 50% I F1d BT (Rs. T

Al o)

122
{X2 124
124
A3 126
126
1.44 128-(Correct Alternative)

128

Objective Question

An article is bought for Rs.1390 and sold at Rs.2085. Find the gain percentage.

T I Rs.1390 H WIS STt & 3R Rs.2085 H St SI1ch & | AT Wf=rd 91d Hiforg|

1.0

1.0

1.0

1.0

GET IT ON

Google Play

0.25

0.25

0.25

0.25
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75

76

77

78

iM 50-(Correct Alternative)

50
A2 60
60
A3 90
70
A4 gp

80

Objective Question

An article is bought for Rs.1600 and sold at Rs.1360. Find the loss percentage.

T® T Rs.1600 T WS St 8 3R Rs. 1360 H o< St B 1 817 Ufrerd 3d s

Al
5
A2 g
10
63 15-(Correct Alternative)
15

{M 20

20

Objective Question

An article is bought for Rs.1400 and sold at a loss of 45%. Find its selling price.(in Rs)

TH TG Rs. 1400 H WIS S 8 3R 45% I TR o1 STl § | ST fashd Jod I1d HifoTd | (Rs. H)

Al 350
750
iAZ 770-(Correct Alternative)
770

A3 790
790
A% 810

810

Objective Question

When an article is sold at Rs.3640 after a discount of 35%, find its marked price.(in Rs)

TS PIS TG 35% BT BT P TIG Rs.3640 T I SATH 8, 1 I9HT SHfohd Gedd J1d BT | (Rs. H)

Al 5300

5300
{3‘2 5400
5400
A?’ 5500
5500
1.44 5600-(Correct Alternative)

5600

Objective Question

The marked price on an item was Rs.3100 but the shopkeeper offered a double discount of 20% and 15%. How much did he finally sell the
item for?

TP I IR 3o T Rs.3100 AT A GHMGR = 20% 3R 15% PI ales] ge ol | 3idd: 39 a8 a%g foba- & s

Al 1808

1.0

1.0

1.0

1.0

GET IT ON

Google Play

0.25

0.25

0.25

0.25
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1808
A2 1908
1908
f” 2008
2008

f&4 2108-(Correct Alternative)

2108

Objective Question

79 Find the rate of interest when:(%) 1.0 0.25
Principal = Rs.7500, SI = Rs.5400 and time = 8 years

TS &R I BT (% H)
§ ALY = Rs.7500, TTEROT ST = Rs.5400 3R THG = 8 T |

Al
5
A2
7

_A3 9-(Correct Alternative)

9

Aty

11

Objective Question

80 Find the Principal when:(in Rs.) 1.0 0.25
SI=Rs.4767, rate = 14% p.a. and time = 6 years

H\FTWWW:(RS.%
JIYRU TS = Rs.4767, & = 14% Ufd a9 3R 7T = 6 a§

{U 5575
5575
A2 .
. 5675-(Correct Alternative)
5675

{%3 5775
5775
54 5875
5875
Objective Question

81 Find the amount on Rs.13000 for 2 years at 10% per annum, compounded annually.(in Rs.) 1.0 0.25

s =T T TARTT 10% Tfd a9 B G2 F Rs.13000 D1 AT 2 a6t H fare=1t g i (Rs. H)

{“ 15430
15430
52 15530
15530
{3‘3 15630
15630
{&4 15730-(Correct Alternative)
15730

Objective Question

82 1.0 0.25

Find the area of Isosceles Right Angle Triangle, whose side is 42 cm. (in cm?)

I GG ATg THD 0T Sl BT el 1T BT, FrTat YT 42 cm §1 (cm? )

él 882-(Correct Alternative)
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882
A2 gg4
884

A3 gg6
886
A4 gg8

888

Objective Question

&3 1.0 0.25

Find the area of Rhombus, whose diagonals are 13 cm and 14 cm. (in cm2)

Y THAGYS BT §FHA J1d Bifore, e faaof 13 om 3R 14 cm §1 (cm? F)

{&1 91-(Correct Alternative)
91

'A2 93
93

A3 o5
95
A% g7

97

Objective Question

84 1.0 0.25

Find the area of trapezium whose parallel sides are 50 cm and 48 cm long, and the distance between them is 45 cm. (in cmz)

WWWWWW,WWWSO crnGaT48 cmﬁ@%ﬁ?ﬁ@ﬂﬁ@% cm%l (cmzﬁ)

Al 2203
2203
A2 .
. 2205-(Correct Alternative)
2205

A3 2207
2207
A% 2209

2209

Objective Question

85 1.0 0.25

Find the Total Surface Area of the cube whose side is 11 cm. (in cmz)

I U1 B $ GETI &0 J1d B I1o1g, T YT 11 em 1 (cm? F)

Al 92
722
A2 924
724
{s3 726-(Correct Alternative)
726

At 708
728

Objective Question

86 A can finish a work in 560 days and B can do the same work in 840 days. Working together, they will complete the same work in how 1.0 0.25
many days?

A Tt &1 BT 560 e & TR R Tohdl 8 3R B I B BT 840 o & T R Thel 51 U 1Y BT Hdl U I B Bl fohe
A s
Al 335

332
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A2

334

334

fAS 336-(Correct Alternative)

336
A4 333

338

Objective Question

87 Pipe A can fill a tank in 486 minutes and Pipe B can empty the same tank in 972 minutes. If both pipes are opened together, how many 1.0
minutes will it take to fill the empty tank?

ISy A Th b bl 486 FoFe & 1R Tobdl & 3R UI3U B I I &Y 972 e H Wielt = Iobdl 1 IfS ST Uigul &) Ues A1y @i
fear S, @ el € Y WRA # fopdq e s

Al 979
970
{&2 972-(Correct Alternative)
972

A3 974
974

A% 976

976

Objective Question

88 Dravid and Sachin together can do a piece of work in 192 days and Ganguly can do it in 576 days. In how many days will Dravid, Sachin 1.0
and Ganguly do it together?

afag 3R Tfer AR fardht Hf & 192 fa & R Tohd § SR T 39 576 fod & 3R Tehd € | Sfds, Tfee SR e 39 U Y
fobe & & 3l

Al 15
152
A2 148
148

.A3 146
146
fA4 144-(Correct Alternative)

144
Objective Question

89 Albert can do a piece of work in 215 days and Brayan can do the same work in 430 days. With the help of Cristian, they finished the work | 1.0
in 86 days. Working alone, Cristian can do the same work in how many days?

3fead et BT i 215 &7 o R Wbl § SIR s I B o1 430 fo1 & ox Tl 8 | b ) g A 3617 86 A A wrd @
HR foran| srha B HRd gU fohfea 34t o ! frda i o ok Tapan 72

iM 215-(Correct Alternative)
215

52 225
225
53 235
235

A% 45

245

Objective Question

90 Russell can do a piece of work in 288 days. He worked at it for 72 days and then Martin finished it in 216 days. In how many days can 1.0
Russell and Martin together finish the work?

T el Bl Bl 288 7 T AR vl 31 98 30 W 72 o7 I B FHovall 8 MR R W1 0 216 37 T Q1 BT 81 7 3R
e e 39 S &I v fod & -1 I 62
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Al

140
140

A2 14
142
f&3 144-(Correct Alternative)
144

At 146
146

Objective Question

91 Akshati travels at a speed of 102 kmph and she reaches the destination in 8 hours. Find the distance she travels.(in km)

31e1f 102 kmph @ AT T TET HT § 3R I8 8 S W Tidad b Ugdd! g1 STP gRT a BI T g3 (km H) F1d BT |

Al g14

814

.A2 816-(Correct Alternative)

816

A3 g8
818
A% 220
820

Objective Question

92 How many minutes will Rashad take to cover a distance of 5400 meters if he runs at a speed of 90 km/hr?

& IE 90 kn/hr BT T F SIST &, 1 S 5400 FeR BT g8 00 HRA H fava fiie i

Al 33
33
A2 34
34
A3 35

3.5

?4 3.6-(Correct Alternative)

3.6
Objective Question

93 A man travels at a speed of 164 kmph and covers a certain distance in 9.84 minutes. Find the distance covered in metres.

TH AN 164 kmph B 1A I T BT § 3R 9.84 e F U FiEd g T xaT 8| a0 $1 715 gl Hiex d J1d Hiford|

{&1 26896-(Correct Alternative)

26896

A2 97896
27896
A3 98896
28896
A% 29896
29896

Objective Question

94 A traveller covers a distance of 36250 metres in 58 seconds, find the speed of the traveller.(in kmph)

TH AT 36250 Her D1 3 58 Ybs W a0 Bl 7, IE B A1 (kmph H) F1d BT

Al 2050

2050

1.0

1.0

1.0

1.0
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0.25



https://applink.adda247.com/d/XhqWf9lSap

Addal247

{%2 2150
2150
‘_43 2250-(Correct Alternative)
2250
A% 9350
2350
Objective Question
95 Speed of a train is 1098 kmph. It can cross a pole in 64 seconds. What is the length of the train?(in meters) 1.0
TH ¢ D1 19 1098 kmph & | T8 T T Bl 64 Jdbhs B UR HR ! g1 - B qals (Hiex ) fva- g2
{U 19420
19420
A2 .
. 19520-(Correct Alternative)
19520
{3‘3 19620
19620
A% 19720
19720
Case Study from Question No. 97 to Question No. 101
96 Refer to the following line graph and answer the given questions. 5.0
The data has the number of people travelled in Train A and Train B from Monday to Friday.
—p—Train A —@—TrainbB
300
250
150
100
] Monday Tuesday Wednesday Thursday Friday
——Train & 259 219 263 215 267
—a—TrainB 204 263 200 267 226
FofRaT X T &1 Sradieh BT IR 3T 1T Ui & IR o |
ST H IR ¥ YHaR d% o1 A 3R ¢ B H I A a1 AN 1 I g |
—~— 1A —=— ¢AB
250
150
100
50
? ¥WErR W@ER  gWER AR EER
—— A 259 213 263 215 267
—— g 204 263 200 267 226
97 Find the number of persons who travelled by Train A from Monday to Friday. 1.0
AR ¥ YEHAR TP ¢ A F T R dTal AfGad! 1 e J1d Difod |
AI 1123

GET IT ON

Google Play

0.25

1.25

0.25
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247

1123

iAz 1223-(Correct Alternative)
1223

53 1323
1323
{3‘4 1423

1423

Find the number of persons who travelled by Train B from Monday to Friday.

AR ¥ YhdR TP ¢ B F AT HRA dTal Afdad! b1 TS J1d Diford |

.Al 1160-(Correct Alternative)
1160

A2 1260
1260
{3‘3 1360
1360
A% 1460

1460

What is the difference between the number of people who travelled on Monday and the number of people who travelled on Tuesday, by
both the trains?

ST S & WHAR &1 T B aTal SAfaddl o WReAT iR TR B AT - a1l sAfaaqdl o1 e & o e 3R 82

Al

11

{%2 13
13
A
17
fA4 19-(Correct Alternative)

19

Find the average difference between the number of people who travelled by Train A and Train B on Monday, Wednesday and Friday.

IR, FUIR 3R YHAR BI o A 3R 7 B I I B+ a1 SAfaqdl o1 TReait & st Sd 3R J1d Pifoie |

Al sy
51

fu 53-(Correct Alternative)

53
A3 55
55
At 55

57

Find the percentage of the number of people who travelled on Monday in Train A and Train B together to that of the people who travelled
in Train A and Train B together from Monday to Friday. (Upto 2 decimals in %)

IR B ¢ A 3R 1 B H 1 A aTal SAfaqd! ol Hot T BT HIR I YhAR ddb o A R 7 B T I $H3A aral Afaaal i
Pdl AT Y AR e BITTI (% B 2 GRETAD doh)

Al 340

13.42
A2 154

15.42

1.0

1.0

1.0

1.0
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A3

17.42

17.42
.A4 19.42-(Correct Alternative)
19.42

Objective Question

102 ' Replace the question mark with an option that follows the same logic applied in the first pair
TK:YP:: EH:??

- @) 39 fIeu @ wforeutia S, it ugd g & ygad ab BT a0 Sar g

TK :YP::EH: ??

AL N

IJN
A2 .
. JM-(Correct Alternative)

IM
Y
M

At N
IN

Objective Question

103 Replace the question mark with an option that follows the same logic applied in the first pair
ERV : FSW :: 77 : RPN

"y-fug o 39 fawea A yfownfia SIS, St ugd g § YT b BT 3TH AT 6|

ERV : FSW :: 77 : RPN

A

! QOM-(Correct Alternative)
QOM

A2 poON
PON
A3 oM
QNM

A% paMm
PNM

Objective Question

104 ' Replace the question mark with an option that follows the same logic applied in the first pair
Terminal : Last :: Prepare : ??

wy-fuE o 39 fawea § yfownfia S, St ugd g™ § YT b ST 3FHR0 AT & |

Terminal : Last :: Prepare : 7?7

! Arrange-(Correct Alternative)
Arrange
5%2 Disorganise
Disorganise

{3‘3 Disturb

Disturb

A4 Break

Break

Objective Question

105 | Replace the question mark with an option that follows the same logic applied in the first pair
Buffalo : Calf :: Deer : ?7?

wy-fuE o 39 fawed § yfomnfia S, St ugd g™ § YT b ST 3HR0T T & |

Buffalo : Calf :: Deer : ??

1
Puppy

Puppy

1.0

1.0

1.0

1.0
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.A2 Kitten

Kitten
.A3 Fawn-(Correct Alternative)
Fawn
A% xid
Kid
Objective Question

106 Choose the alternative which is an odd word/number/letter pair out of the given alternatives.

fau TTu fawenl & ¥ 98 faded g, o U SRITTd Mea/Ae/3eR T ¢ |

{U Bottle

Bottle
{3‘2 Purse

Purse
{3‘3 Bag
Bag

.A4 Tiger-(Correct Alternative)

Tiger
Objective Question

107 Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that group?
Ears, Eyes, Nose, Lips, Toes

e o & 9§ IR e RfFd dRis 3 M § 3R 3HT Us FHg S0 & | 98 HI9-91 U & ol 39 THg I Jeled 781 82

Ears, Eyes, Nose, Lips, Toes

iAl Toes-(Correct Alternative)

Toes

_AZ Nose

Nose
{3‘3 Lips
Lips

A4 Ears

Ears
Objective Question

108 | Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that group?
Ability, Impotence, Potential, Capacity, Competence

fFafafed o § § IR T RfEd s 3 A § 3R 39T Ue WHg §71d 8 | 98 HIF-91 ¢ Ol 39 THg A Jefed 781 82

Ability, Impotence, Potential, Capacity, Competence

‘.M Impotence-(Correct Alternative)

Impotence
A2 Ability
Ability

_A3 Potential

Potential
{3‘4 Capacity

Capacity
Objective Question

109 Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that group?
LP,VZ, CG, MQ, SY

fFrafafed o & 9§ IR Te RfEd e 3 90 § 3R 38T Ue FHg §71d 8| 98 HIH-91 ¢ Ol 39 THg I Jefd 781 82

LP, VZ, CG, MQ, SY

.Al SY-(Correct Alternative)

1.0

1.0

1.0

1.0

GET IT ON

Google Play
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0.25

0.25

0.25
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110

111

SY
A2
T vz
VZ
A3 p
LP
A Mo
MQ

Objective Question

Each face of the given dice is printed with the letters A, B, C, D, E and F. What letter is printed on the face opposite to the letter D?

D d

U T U & Ud® Beldh WR 3&R A, B, C, D, E 3R F 3ifhd g1 31&R D & [Audid o R H=-97 3eR 3ifehd g2

D d

Al

A2

A3

.A4 E-(Correct Alternative)

E

Objective Question

Each face of the given dice is painted with the colours Red, Green, Blue, Brown, Pink and Yellow. If Pink colour is neither opposite to
Brown nor opposite to Green coloured face, Red coloured face is adjacent to Green coloured face, then which coloured face is not adjacent
to Green coloured face?

Green

Blue
Brown

3T T U & UdS atd &I a1d, BY, e, R, TaTet SR dial 1§ 57 T § 1 3 Tarelt 1 A R T & e b [qusid § 3R A
AR TS Bad & [JULA &, T T HT hateb e T P Bl P e 7, dl [ T HT hatdb 8 31 & Hold P Fiebe T8l 82

el

AI Brown

1.0

1.0

GET IT ON

Google Play
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0.25
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ks

Yellow-(Correct Alternative)

A2

Objective Question

1.0 0.25

112" 'Which one of the following alternatives will perfectly complete the given figure?

B

AR & & P-4 fased §f 78 3epfal 1 I ake A gl

i

— (Correct Alternative)
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113

\9]

W

A e RS

N

Objective Question

Choose the alternative which is similar to the given series.

OO

O
]

O
[

O
[ ]

O

L

O

{1

{2)

Ig fadeu ge, ST €t 718 SRl & THH B

(3]

1.0

0.25
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115

116

(1] 12 (2] 14]

Al
2
A% 3
3
.A3 1-(Correct Alternative)
1

A%y

4

Objective Question

All persons in a row are facing North, A is 10th to the left of B who is at the extreme right. A has 3 persons on the left. What is the total
number of persons in the row?

T Ui § 9t Afs IR B 3R T &, B, SN b TheH allgd BRI g, B a1% 3R 10d MW A G| A DT 915 3R 3 AR B
UfeR 7 caferral ) oot e fba 82

{M 11
11
I.AZ 14-(Correct Alternative)
14

{%3 12
12
{%4 13

13

Objective Question

A stands in the 3rd position from the front of the queue and there are 3 persons between A and B. B stands after A. If the first two person
are removed from the queue then what is the position of B from the front of the queue?

A TR & 3BR T TR WH R TSTE TUT A IR B P &1 3 AR &1 B, A P 9l T ¢ | Tfe Ugd o sufaaa &) ufed § ger faar
SId1 8 o) Ufedd & S8R A B &1 R BIH-J1 811 2

Al 4

4
iAZ 5-(Correct Alternative)
5

o
6
M

3

Objective Question

X and Y are facing North, starting from extreme left X moves to the 6th place in right and starting from extreme right Y moves to the 6th
place in left. Now X is to the immediate left of Y. How many persons are there in the row?

X 3R Y SR &1 3R SHTE &, X 91E BR I Y& gIaR alg 3R 36 T W ST § 3R Y &8 BR I IE g a3 3R 66 ™M R
ST g1 3@ X, Y & ol a13 3R 7| ufaa & fpd aufda g2

Al o

1.0

1.0

1.0

GET IT ON

Google Play
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247

10

{&2 12-(Correct Alternative)
12

{%3 14
14
Ad s

15

Objective Question

Person A is standing exactly in-between P and Q in a queue. P is 18th from the front of the queue and Q is 23rd from the end of the queue.
P and A has 2 persons between them. What is the total number people in the queue?

o Ufad H P 3R Q & 3o o H afdd A WST 2| P UG & BRI 183 T W 8 3R Q Ufdd & A SR I 23 WA R I P
3R A S 2 e &1 Ufda o cafdaat ot o e fait g2

fAl 46-(Correct Alternative)

46
A2 4y
44
A3 g
48
A% 49

49

Case Study from Question No. 119 to Question No. 122

Directions: In this question, a passage is given followed by a statement. Read the passage carefully and judge the statement based
on the given passage.

For the conservation of Indus dolphins - one of the world’s rarest mammals - the Punjab government along with WWF-India are conducting
the first organised census on their population, officials said on Thursday. Found only in India and Pakistan, the Indus dolphins are confined
to only a 185 km stretch between Talwara and Harike Barrage in India’s Beas river in Punjab. Officials from the Department of Forests and
Wildlife Preservation, Punjab and WWF-India are currently working in two teams and will come to an estimate regarding the dolphin
population over the five-day exercise.

According to Suresh Babu, Director River Wetland and Water Policy, WWF-India, the most flourishing population of the Indus dolphin,
platanista gangetica minor, is found across Pakistan where their numbers are estimated to be around 1,800 over a stretch of 1,500 km of the
Indus river. “ If a river is healthy the dolphins will be there and if not, we have the example of Sutlej,” Experts say they were found in
Sutlej decades back, however, river pollution is believed to be a major cause of their extinction from the habitat. Suresh Babu told IANS. A
blind species that communicates through echo like bats do, Indus dolphins are one of the seven freshwater dolphins found across the world.
Choose the appropriate one from the following options

A - The statement is definitely true.

B -The statement is probably true.

C -The statement cannot be determined.

D -The statement is definitely false.

frd=r: 59 Wy, Ueb I & 91G TP Y {301 T4 | TR i e | Ul SR A Y e & SR R YA 1

TeiDh Do |

ST = TFAR B Bl [ 3% & Ja8 gay WHUIRA! § ¥ Tab - Rig St o ARef0] & oY Uod IRIHR, S*gs&guh-giedr
& 1Y T 3! SMTETE! IR Ugalt SfSd SHTUHT $HR Y61 6 | had HRd SR Uifdea § urg o= aralt Rieg SifetsH, YRd & ol
H o ] H daars] 3R 8% SRS & did bad 185 bl BT gl aob HIfHd §1 9 Td a=aolia WReur faHmT, i ¢k
SRYSYUH-HRA & HAGRY gfaq & €1 I §f o1 o 3R § 9k uia feawita snara o Sifets ot sardl & Tafe §f 3rgdH

|

SIS &YU-51$aT & RaR dedis iR Id —ifd e, I 919 & SR, RiY S wWelRe Tifes AR & 9ed 949G
STETE) QX UToht™ | TS STt 8, Sfei RiY 7al & 1,500 fhalHiex o &7 H 371 G-I TTHT 1,800 B BT 3FHH & | "afE Pis al
TR g Al Sifetp1 a8l g1t SR AT 8T, df SR UTH Haqol BT IaTeR0 6," Y 19 A SSUTATH &I 5 fob fa=iwsll &1 He1§
% d T2r! Uga aqel & urdt St off, graifos, Tt UgWUr 1 3% MaR R ¥ faqW 8 &1 Ud U@ HRUT T o1dl 5 | T et
yonfa, Ry SRR, S TmTes! &t dRe Ufdea & ATeqd ¥ TR Hal 7, 3y 1R § U1g o areit Hig Ui &1 91d Sifet § 9§ Th

gl
fafifed fowaal & 4 du%d\‘l fdsed gHT|
I

A-HYEF T I I

B - HYT IHId: TI &

C - pY= Fyiia 781 fear ST gsar g
D - U8 HYF Afd *u ¥ 3T g

Statement: There are seven freshwater dolphins found across the world apart from Indus dolphins.

FYA: iy Sifete & sramar fay 1R & 1S Uil &1 A1d Sifedp TS S ¢ |

Al A

A
A2 g

B

1.0

4.0

1.0

GET IT ON

Google Play

0.25

1.00

0.25
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120

121

122

123

247

A3

C

C
.A4 D-(Correct Alternative)

D

Statement: Sutlej river had been the habitat of Indus dolphins till the river was healthy. 1.0

FY: 99 b Faqel 1o W A, 9 dF I8 Rigy Sifetn o1 gafary ot

I.M A-(Correct Alternative)
A

A g
B
M
C

At p

D

Statement: Indus dolphins are the blind species that communicate through echo. 1.0

FY: Ry STTep ag ofeh vonfa 8, S ufaeaf & arens ¥ TR &t g |

{&1 A-(Correct Alternative)
A

A p
B
e
C

At p

D

Statement: Indus dolphins live in a polluted river and the river becomes healthy. 1.0

HY: Riy STRe vgfid 7 & Ted € 3R 7 W 81 et 1

Ala
A
A% p
B
M
C
fA4 D-(Correct Alternative)

D

Objective Question

In this question, relationship between different elements is shown in the statement. This statement is followed by two conclusions: 1.0

Statements: O<R<A=N<G>E
Conclusion:

H)R<G

1) O<N

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either 1 or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

T Uy A, By # fafta 9« & du Jau cifar mar 81 59 Y= F 916 &) ey flr e §:

PYI: O<R<A=N<G>E
ﬁ'ﬁﬂf:
)R<G
ii)O<N

GET IT ON

Google Play

0.25

0.25

0.25

0.25
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fafafad faswedl o 9 Iuged fawed giag
(A) Had FI5HY § TR0 BT §
(B) Fael sy ij STERUT el &
(C) TN i T i SRV Bl §
(D) dl i IR AT ii IRV AT &
(E) i 3R ii GHFf SFIER0T HRd 5 |
Al A

A
A2 B

B
e

C

{&4 E-(Correct Alternative)

E
Objective Question

124 'In this question, relationship between different elements is shown in the statement. This statement is followed by two conclusions:

Statement: F<I<G=H<T>E>R>S
Conclusions:

NF<G

i) T>R

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow

YUY ¥, By H fafta g« & S Jau cifar mar 81 59 Y= $ 916 & ey fr e §:

DY F<I<G=H<T>E>R>S
frep:
)F<G
ii)T>R

fafaRad faswedl o 9 Iuged fdwed g
(A) Had F5HY | STIRUT a1 §

(B) HId BT ii SFTIRVT AT &

(C) T AN i T i TRV BT &

(D) T ai AR TS ii IRV HRAT &

(E) i 3R ii G 3R B & |

Al o

A

.A2 B-(Correct Alternative)

B

A3 ¢

C

At p

D
Objective Question

125 'In this question, relationship between different elements is shown in the statement. This statement is followed by two conclusions:

Statement: T>H>U<R<S=D<A<Y
Conclusions:

1) T>U

ii)A<R

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow

T UY H, Y9 # fafia dal & I A4y giar T 81 59 $UA & 916 ) e fau U g

PYT: T>H>U<R<S=D<A<Y
fAred:

HT>U

1.0

1.0

GET IT ON

Google Play

0.25

0.25
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ii)A<R

fafaRad faswedl o 9 Suged fdwe giHu|
(A) Had FT5HY i TR0 BT §

(B) Had BT i SFTHRU PIAT §

(C) 1A i T i TRV BT §

(D) A i IR A ii SFTARY HAT §

(E) i 3R i I 3FJER B & |

fAl A-(Correct Alternative)

A

A2 g

B

A3 ¢

C

At p

D
Objective Question

126 | In this question, relationship between different elements is shown in the statement. This statement is followed by two conclusions: | 1.0

Statement: C>H>1=P<O<T<L<E
Conclusions:

)H<T

i) E>P

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow

3 Uy #, HY= A faftra acaf & Fa Jau gxifar Tar 81 59 HYF & 916 o fAeed g mu §:

PYI: C>H>1=P<O<T<L<E
ﬁwﬁf:
))H<T
i)E>P

fafaRad faswedl o 9 Iuged fawed giu|
(A) Had FI5HY § TRV BT §

(B) Had e ii SIERUI HRT §

(C) TN i M i TRV Bl §

(D) T dli AR TS ii TRV HRAT &

(E) i 3R ii G TR B & |

Al 5
A
A2 g

B

A3 ¢

C

fA4 D-(Correct Alternative)

D
Objective Question

127 ' In this question, relationship between different elements is shown in the statement. This statement is followed by two conclusions: | 1.0

Statements: R>K; E>1; A=P; K<L,R<A
Conclusion:

1) K<E

i) A>K

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

T Uy ¥, By A fafta 9« & S Jau cifar mar 81 59 $Y= F 916 o) ey flr e §:

DPYT:R>K;E>L;A=P; K<L, R<A

GET IT ON

Google Play

0.25
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HK<E
ii)A>K

frafefad fawedl o @ Iuged fadber gl
(A) Had FT5HY § STERUT BT §

(B) HId BT ii SFTHRUT HIAT §

(C) 1A i M i TRV BT &

(D) T i 3R A E i SRV FHRal &

(E) i 3R i GFI 3FJER Hd ¢ |

Al A

A
:AZ B-(Correct Alternative)
B
e
C
o

D

Objective Question

128 | If a mirror is placed on the right side of the given image, then which one of the following options is the correct image of the given figure? 1.0 0.25

ABROAD

Ife & TS 3Mpfa P <TE 3R U SUUT T oIl 8, f Fafeiad o ¥ SI-91 faswed < 18 3nepfal o1 wel ufafe 32

ABROAD

' VBEOVD
VBEOVD

- dAOA8aA

dAOA8A
" DAORBA

— (Correct Alternative)
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DAORBA

' DVOKBY
DVOKBY

SAI\/IPLE

frafeRad fasmedl & @ & 71 siiepfd &1 gt o ufdfds g

SAMPLE

 2VIAIbTE
2VIAIBIE

 3J9MA2

I19MAR
" ELPMAS
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ELPMAS

EIbINVZ
EIbINV?Z

Objective Question

GET IT ON
Google Play

A4

130 Which one of the following images numbered as (1), (2), (3), (4) will be the next image for the given series? 1.0 0.25
[ O O
0 A > V <
O ] O @

ANE

@)

/\ O

AN

I _

/\ O

(1}

(2)

3

(4}

(1), 2), 3), (4) P =U & HHifPpd FafiEad snefaal & | & 78 JRaa o1 3rTel spfd HiF-3f grfte
O O O

o A > \4 <

@) [ O e

0 Qe

i 12] 2) i

Ay
2
?2 1-(Correct Alternative)
1

A
3

At 4

4
Objective Question

131 Which one of the following images numbered as (1), (2), (3), (4) closely resembles the water image of the given figure? 1.0 0.25
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m“lln.. ,.||I|”HH w”””””

i 2 3 4

1 2 3 4

.AZ 2-(Correct Alternative)

A3

AN W W (]

A4

4

Objective Question

132 How many squares are there in the given figure? 1.0 0.25

@718 arrepfal H fobe ol &2
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A ! 10
10
fAZ 11-(Correct Alternative)
11

_A3 12
12
A3
13
Objective Question

133 How many triangles are there in the given figure? 1.0 0.25

&S arepfar H o By &
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.A] 10-(Correct Alternative)

10

A2
1
A3
12
Ad s
13

Objective Question

134 How many squares are there in the given figure? 1.0 0.25

&7 aepfa H fopam i 82
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Al o
10
'AZ 11
11

AS 12
12
.A4 13-(Correct Alternative)
13

Objective Question

135 How many triangles are there in the given figure? 1.0 0.25

@718 arepfal H fobe Byl &

Al o
10
'A2 11
11

A3y
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136

137

138

139

Objective Question

Objective Question

Objective Question

Objective Question

Google Play

12

1.44 13-(Correct Alternative)

13

P is the mother of Q and R. R is the father of S and T. How is P related to T? 1.0 0.25

QIRRBIATPEIS AR THIUAR I PHT T T T TIY 2

{U Mother

A4

I

.A2 Aunt

3fic

_A3 Mother-in-law

SINI

1.44 Grandmother-(Correct Alternative)

Pointing to a girl, a man said, "She is the daughter of only son of my mother." How is the girl related to the man? 1.0 0.25

TP TSP DI 3R 1A B gU, T G A BT, "d8 T Af & Shalid I &1 T g 1" I TSt &1 39 fad o 7 JaY 77

{3‘1 Mother

g

|1
_AZ Sister

EIE

63 Daughter-(Correct Alternative)

Eel

A4 Granddaughter

BISIGIIRE|

Pointing to a lady, a woman said, " She is the daughter-in-law of wife of my husband's father." How is the lady related to the woman's 1.0 0.25
husband?

@m%%rvna%’r 3R Zfd B §Y, U 3R A HeT, "d8 TR Ufd & U1 B Uit &1 Tay 31" 3 Al 1 39 1R P ufd I 1
ey 8

{U Mother

A4

Hi
{&2 Cousin

EANE]

.A3 Aunt

3fe
A4 . . .
. Sister-in-law-(Correct Alternative)

Rrevgaar

E is the son of A. B is the mother of E and daughter of C. How is E related to C? 1.0 0.25

E,ABIGAR| B, E DI AT MR C B T g1 E BT C A 71 I g2

_Al Grandson-(Correct Alternative)

UIEIEGIE: |

'AZ Brother

urg

.A3 Son-in-law
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140

141

142

143

Objective Question

Objective Question

Objective Question

Objective Question

Google Play

GalHlq

{3‘4 Son

9

D is the father of A and brother of C whose mother is E. F is the son of B whose wife is C. How is A related to F? 1.0 0.25

D,ABI AT R c HT U §, SIS AT E ]| F, B BT YA 8, oD Ut C 1 ABTF A 1 Yae g2

Sister

ELal

2 Cousin-(Correct Alternative)
S
{3‘3 Niece

Gik]

.A4 Nephew

TR

The price of bread is Rs.15 more than the price of the jam and the price of bread & jam together costs Rs.25.10. Find the price of the jam. 1.0 0.25
(InRs.)

NS BT U, OH & Jed U Rs.15 HYH § 3R 98 TUT OH & A Hed Rs.25.10 €| OH BT Yo J1d BT | (Rs. H)

Al 20,05

20.05

A2 s
15
?3 5.05-(Correct Alternative)
5.05

A s

5

In a wallet, the denominations of two rupee coins, five rupee coins and ten rupee coins amount to Rs.680. There are equal number of coins 10 0.25
in all denominations. What is the total number of coins in the wallet?

TH IgU H, 3 30 & Ryaeh!, Ui S & Ryaen! 3R 8 ¥ & Ryaes! &1 Gedat Rs.680 ¢ | T geuat! & Ryaen! ot I IqH 6|
9T H Ryaep! &1 ol Tem fobat 32

.Al 120-(Correct Alternative)
120

AZ 40
40
A3 60
60
A% 99

20

The sum of the ages of 5 'six sigma' students who were born at the intervals of 5 years each is 150 years. What is the age of the eldest 1.0 0.25
among 5 students?

T 5 aY & 3faRTd UR UaT g 5 ey Ry faenfifat &t smg 13T 150 I B 1 5 faenfial & god 98 &1 oy fpait 32

Al 3

30
A2 35

35
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A3

40-(Correct Alternative)

40
A% ys

45

Objective Question

144 The present age of Roborto Carlos is thrice that Neymar Jr. Five years hence the ratio of their ages will be 25:9. What is the difference

between their ages?

SC! HTAN DI A 3R, TAR AR I o 1 5 | T aY 916 SADT 3T BT SUIT 25:9 TR | SADT 3 & o a1 3R g2

Al 5o

50

AZ
60
A3 99
70

.A4 80-(Correct Alternative)
80
Objective Question

145 Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that group?

Z,B,E,F, X

fFafifed o & 9§ IR e FRfEd die 3 M § 3R 39T Us THg §11d 8 | 98 HIF-91 ¢ Sl 39 THp A Jeled 781 82

Z,B,E, F X

.Al E-(Correct Alternative)
E

Az
Z
A x
X

At g

F
Objective Question

146 | Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that group?

Accomplish, Achieve, Fulfil, Attain, Collapse

fFafafed o § § IR e RfEd die 3 THM § 3R 39T e WHg §71d 8| 98 HIF-91 ¢ Ol 39 THp I Jeed T8 62

Accomplish, Achieve, Fulfil, Attain, Collapse

Al Bl

Fulfil
A

2 Collapse-(Correct Alternative)
Collapse
,A3 Attain
Attain
{3‘4 Accomplish

Accomplish

Objective Question

147 ' Find the odd image out in the given series.

1.0

1.0

1.0

1.0

GET IT ON

Google Play

0.25

0.25

0.25

0.25
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(1)

(2)

3 TS R § SR ST T BT

(3)

(4)

(1)

1.41 4-(Correct Alternative)
4

o
2
»
1
M
3

Objective Question

(2)

148 ' Find the odd image out in the given series.

149

(3)

(4)

D
A

C
N

18

26

30

(1)

(2)

TS Rgar § SR S [ BIfoTe |

(3)

(4)

D
A

C
N

18

26

30

(1)

Al
2
A2y
4

A3
1
At 5

3

Objective Question

1-(Correct Alternative)

(2)

Find the next number in the series.

12,203, 361, 486, 578, ?

(3

{a)

1.0

1.0

GET IT ON

Google Play

0.25

0.25
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150

151

152

& TS ARga B ATl e 1 BT

12,203, 361, 486, 578, ?

Al 632

632
{\2 633
633
{%3 635
635
?4 637-(Correct Alternative)

637

Objective Question

Find the next term in the given series.
14, 14, 17,25, 40, ?

3112 e o 3FTET Ug {1 PifTe |
14, 14, 17, 25, 40, ?

{U 55
55
{X2 65
65
.A3 64-(Correct Alternative)
64

A5

52

Objective Question

Find the next number in the series.
12, 145, 300, 467, 656, ?

3 TS g o 3FTelt e 9 Sifon|
12, 145, 300, 467, 656, ?

Al g37
837
A

. 2 857-(Correct Alternative)

857
{B 877
877
{M 867

867

Objective Question

Find the next number in the series.
9,7,12,34,134,°?

3 TTE g § 3FTelt TRe 91d Hifon|
9,7,12,34,134,?

Al 667
667
A2 665
665
A

3 668-(Correct Alternative)
668
{3‘4 669

669

1.0

1.0

1.0

GET IT ON

Google Play

0.25

0.25

0.25
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Objective Question

153 Choose the word which expresses nearly the opposite meaning of the given word " CONCISE ".

Compact
A2
.~ Summary

A3 Lean

.A4 Lengthy-(Correct Alternative)

Objective Question

154 ' Choose the word which expresses nearly the opposite meaning of the given word " STRINGENT ".
1 .
Demanding

fu Flexible-(Correct Alternative)

,A3 Tough

.A4 Harsh

Objective Question

155 Choose the word which expresses nearly the opposite meaning of the given word " FORTUITOUS "

Al 044

,.AZ Intentional-(Correct Alternative)

.A3 Chance

_A4 Incidental

Objective Question

156 Choose the word which best expresses the similar meaning of the given word " ERUDITE ".

{&1 Studious-(Correct Alternative)

.A2 Ignorant

{3‘3 Common

.A4 Support

Objective Question

157 Choose the word which best expresses the similar meaning of the given word " BELIE ",

! Approve

1.0

1.0

1.0

1.0

GET IT ON

Google Play

V.L0

0.25

0.25

0.25

0.25
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.A2 Consent

3 Disagree-(Correct Alternative)

A% A ffirm

Objective Question

158 | Choose the word which best expresses the similar meaning of the given word " CREDULITY ". 1.0 0.25

! Inexperience-(Correct Alternative)

{X2 Perfection

{3‘3 Purity
.A4 Strength

Objective Question

159 Find the word which is correctly spelt from the given options. 1.0 0.25

{U Florish

{3‘2 Establlish

_A3 Emphatic-(Correct Alternative)

A4 Diligance

Objective Question

160 | Find the word which is correctly spelt from the given options. 1.0 0.25

! Exemplery
2 Feudal-(Correct Alternative)

_A3 Heirarchy

{3‘4 Indifferance

Objective Question

161 Find the word which is correctly spelt from the given options. 1.0 0.25

! Irrepaerable

{3‘2 Multilatral

fA3 Legitimate-(Correct Alternative)
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.A4 Persistant

Objective Question

162 Find the word which is correctly spelt from the given options.

{U Abdigate

{3‘2 Contemblate
A3 .. .
. Anticipated-(Correct Alternative)

.A4 Apparantly

Objective Question

163 | Find the correct passive voice for the given sentence in active voice from the given alternatives.

The cow ate a lot.

fn A lot was eaten by the cow.-(Correct Alternative)

{3‘2 A lot was being eaten by the cow.

{B A lot was been eaten by the cow.

A4 A lot was ate by the cow.

Objective Question

164 Find the correct passive voice for the given sentence in active voice from the given alternatives.

He is doing his project work.

His project work is been done by him.
A2 .. . - . :
" His project work is being did by him.
A3 .. . . .
7 His project work was being done by him.

'.A His project work is being done by him.-(Correct Alternative)

Objective Question

165 ' Find the correct active/ passive voice for the given sentence in passive/ active voice from the given alternatives.

Is Mohit purchasing laptop right now?

! Is laptop been purchased by Mohit right now?

A2 . o .

. Islaptop being purchased by Mohit right now?-(Correct Alternative)
3 Is laptop be purchased by Mohit right now?

.A4 Is laptop being purchase by Mohit right now?

1.0

1.0

1.0

1.0

GET IT ON

Google Play

0.25

0.25

0.25

0.25
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Objective Question

166 Find the correct active/ passive voice for the given sentence in passive/ active voice from the given alternatives. 1.0 0.25

How much do you like your sister?

{&1 How much is your sister liked by you?-(Correct Alternative)

A2 How much is your sister like by you?

A3 How much does your sister liked by you?

.A4 How much does your sister like by you?

Objective Question

167 ' In the following question, one part of the sentence may have an error. Find out which part of the sentence has an error and select the option | 1.0 0.25

corresponding to it. (Avoid punctuation errors)

(A) Tomato flu is a unidentified fever / (B) that has been detected / (C) in several parts of Kerala. / (D) No Error

.A] A-(Correct Alternative)

A2
A3
A4

Objective Question

168 | 'In the following question, one part of the sentence may have an error. Find out which part of the sentence has an error and select the option | 1.0 0.25

corresponding to it. (Avoid punctuation errors)

(A) For many Indians and Pakistanis, particularly / (B) in rural areas, the intolerable heat will / (C) slash the valuable hours available to
work outdoors. / (D) No Error

Al A

A2
A3

.A4 D-(Correct Alternative)

Objective Question

169 | In the following question, one part of the sentence may have an error. Find out which part of the sentence has an error and select the option 1.0 0.25

corresponding to it. (Avoid punctuation errors)
(A) Cerebral aneurysm is a serious health condition / (B) that can turn fatal if not / (C) diagnose properly and in time. / (D) No Error
Al A

A2

63 C-(Correct Alternative)
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A4

D

Objective Question
170 Choose the best option from the given alternatives which can be substituted for the given word/sentence.

One, who supervises in the examination hall

! Aspirant

{X2 Shoal

.A3 Epic

4 Invigilator-(Correct Alternative)

Objective Question
171" Choose the best option from the given alternatives which can be substituted for the given word/sentence.

Animal that feeds on plants

Carnivorous

,.AZ Herbivorous-(Correct Alternative)

A3 .
~~ Omnivorous

_A4 Predators

Objective Question

172" Choose the best option from the given alternatives which can be substituted for the given word/sentence.

Constant efforts to achieve something

! Perseverance-(Correct Alternative)

.A2 Wardrobe

Reservoir

_A4 Dormitory

Objective Question

173 Choose the best option from the given alternatives which can be substituted for the given word/sentence.

One who does not express himself freely

{“ Jury

.AZ Pacifist

f&3 Introvert-(Correct Alternative)

1.0

1.0

1.0

1.0

GET IT ON

Google Play

0.25

0.25

0.25

0.25
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.A4 Numismatist

Objective Question

174 Replace the underlined phrase grammatically and conceptually with the help of the given options. If the given sentence is correct then 1.0 0.25

select the option 'The given sentence is correct'.
Copra prices have surged to a record X140 a kg following lower arrivals of raw coconuts despite the harvest season having begun in

Kerala.

{U has surged to a record 3140 a kg
_AZ have surge to a record X140 a kg

) 3 have surge to an record 3140 a kg

{&4 The given sentence is correct-(Correct Alternative)

Objective Question

175 Replace the underlined phrase grammatically and conceptually with the help of the given options. If the given sentence is correct then 1.0 0.25

select the option 'The given sentence is correct'.

Our team will played the final match by tomorrow.

I have played

{3‘2 will have being played

.A3 will have played-(Correct Alternative)

A4 . .
~ The given sentence is correct

Objective Question

176 Replace the underlined phrase grammatically and conceptually with the help of the given options. If the given sentence is correct then 1.0 0.25

select the option 'The given sentence is correct'.

Severe gum diseases may also increases the risk for pre-term delivery and premature birth.

can also increases the risk of

may also increases the risk of

'.A3 may also increase the risk of-(Correct Alternative)

A4 . .
] The given sentence is correct

Objective Question

177 ' Fill in the blanks with suitable Idiom/Phrase from the given alternatives. 1.0 0.25

We just wanted to . It's been a few years since we met.

{3‘1 bite our tongue

.A2 touch the base-(Correct Alternative)

A3 bell the cat
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.A4 have a mountain climb

Objective Question

178 Fill in the blanks with suitable Idiom/Phrase from the given alternatives. 1.0 0.25
At these uncertain times, it's good to until your financial issues are set right.

! tighten your belt-(Correct Alternative)

{3‘2 know the time of the day

3 tighten your lip

A

4 have a thin skin

Objective Question

179 Fill in the blanks with suitable Idiom/Phrase from the given alternatives. 1.0 0.25
The taxi driver left us .We didn’t know what to do.

{U a tip of an ice berg

{3‘2 between the devil deep sea
in a trice

in the middle of nowhere-(Correct Alternative)

Objective Question

180 ' Convert the given direct/ indirect speech to indirect/ direct speech with the help of the given options. 1.0 0.25

Rojer said to him, “You have completed your project".

! Rojer told him that he completed his project.

_A2 Rojer told him that he had completed his project.-(Correct Alternative)

A3 Rojer told him that he has completed his project.

A4 Rojer told he had completed his project.

Objective Question

181 Convert the given direct/ indirect speech to indirect/ direct speech with the help of the given options. 1.0 0.25

The traffic incharge asked the man not to park his car there.

{3‘1 The traffic incharge told to the man, "Do not park your car here".

{3;2 The traffic incharge told the man, "Does not park your car here".

.A3 The traffic incharge said to the man, '""Do not park your car here'".-(Correct Alternative)
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.A4 The traffic incharge said to the man, "Do not park your car there".

Objective Question

182 Convert the given direct/ indirect speech to indirect/ direct speech with the help of the given options. 1.0

Our warden asked, “Where do you stay?”

AI Our warden inquires where I stayed.

Our warden inquired where I stayed.-(Correct Alternative)
A3 L
7 Our warden inquired where [ stay.

.A4 Our warden inquire where I stay.

Objective Question

183 control on the windows operating system allows an option or choice to be enabled or not. 1.0

fISe sifmfe Rrer R foizror farft faeren ar URie &) e oR a1 1 A B gRawT T 3

Textbox

eReI (Textbox)

{&2 Choicebox

Al

ai’s?rafa;r (Choicebox)

f&‘?’ Checkbox-(Correct Alternative)

YHIIRT (Checkbox)

.A4 Contextbox

Pl (Contextbox)

Objective Question

184 is Microsoft's new browser, created for a faster and more stable browsing that works well with modern websites and adds new | 1.0
capabilities to the browsing experience.

AISHINITE BT 141 STIOR g, o e TR 31 RRR SIS & forT F1ma 71 § St SMTeYfAich dawrs el o WY 37! ake
T B Bl & SR SIS SrHd H 73 &HaTE Ssal gl

_Al Edge-(Correct Alternative)

US (Edge)
_AZ Safari
BRI (Safari)

Power

UIaX (Power)

A4 Chrome

P (Chrome)

Objective Question

185 ' In Windows 10 Operating system, key combination opens the start buttons context menu. 1.0

fdSIa 10 SR Rew |, Foll (key) TS TIE g Bicde A JIadT |

{\1 Windows + C
Windows + C
'AZ Windows + M

Windows + M
A3 .. .
. Windows + X-(Correct Alternative)

Windows + X

GET IT ON

Google Play

0.25

0.25

0.25

0.25
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.A4 Windows + O

Windows + O
Objective Question

186 | Name the application under MS Office software bundle, that we use to create audio-visual presentation.
@w&r”rigo—\tr(Ms Office) AIUCITR S8 & SATd I TWIH R BT AH FaTy, ST IuaiT 89 ST faged UsiexH s M &
INERGI

AI MS Word

T a8

A2 IS Excel

THTY TR

iA3 MS Powerpoint-(Correct Alternative)

THUY UTaRWise

A4 MS Access

THTE TR

Objective Question

187 command in office button is used to send a copy of the document to e-mail or to Internet Fax.

3ty g1 o HAE BT ITINT SIFTHS DI TH U I 3-H AT §ex-1c ey IR WoH o o forar Srar g1

Prepare

Prepare (ﬁﬁﬂ'{)

Publish

Publish (TfeeTRT)

Send-(Correct Alternative)

Send (@3’)

Open

Open (Gh'CFD

Objective Question

A2
A3

Ad

188 Every cell in an Excel worksheet contains an address, which is defined by

e gt ¥ T e e A (03 A 3, R R ORI R ST B

! a row number
Toh A 4R
a row number followed by a special character

Teh I TR F 91G T IR Heaex

3 a column letter followed by a row number-(Correct Alternative)
TSP DIeH deX & 91G U A FaR
a column number followed by row letter
T DI ek o §1G Ueb A AR

Objective Question

189 ' What is the function used in Excel to add all the numbers in a specified range?

TR | T [y i & @t Semelt &1 Sies & i ford thare &1 JuaiT fasar o 82

Al ApD
ADD

A2 Group

GROUP
A3 .
.~ SUM-(Correct Alternative)

SUM

1.0

1.0

1.0

1.0

GET IT ON

Google Play

0.25

0.25

0.25

0.25
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A4

AVG

AVG

Objective Question

190 You can use arrow keys to navigate to a cell and pressthe  key to edit the cell without deleting the existing content on it.

379 &t Tt TR AfeiTe 3 o 1T R P (keys) BT ITTNT R Hebd € MR AT W Hsfel dhee Bl fefie fbu famr 3 durfea
FAFRC Holl (key) GITTHA B

.A] F2-(Correct Alternative)

F2

A2 g5

F5
A3 gy
F7
A% g

F8

Objective Question

19T 'You can add effects to text, pictures, shapes, and other objects in your presentation using

3 mwwmmﬁwmmmmmwwmm%l

{U 3D Pane
3D ddh

Animation Pane-(Correct Alternative)

TR wae

3 Orientation Pane
INUCTH BaAD
4 )
Graphics Pane

Ty Badh

Objective Question

192 The window that appears below each slide which displays the text description about the slide for the presenter is

T WS & -1 yefRid g1 arelt f[dS), S vgadsal o o ergs & IR § e faarur yeflRid w=<dt § a8 | o

AI Script pane

&pY haih

Notes pane-(Correct Alternative)
T wad

3 Slide pane

A2

LS held
4 Source pane

I s

Objective Question

193 You can add a table in Microsoft Word from the menu.

Y AP 98 2 TP 29 e T B

Home

gm

2 Page layout
EENSEIRT

Insert-(Correct Alternative)

3

1.0

1.0

1.0

1.0

GET IT ON

Google Play

0.25

0.25

0.25

0.25
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.A4 Data

sal

Objective Question

194 'What will happen when you press the Ctrl+A key combination on a Word document?

I 3170 fhdlt I8 STaRHE W Ctrl+A Foll (key) FAToI ST df FT GRTI?

! Delete All
fSefie affa
A2 .
. Select All-(Correct Alternative)
Ridae sifa
A3 Cut

e

{3‘4 Copy

DIUl
Objective Question

195 is a list of chapters and corresponding page numbers usually created at the beginning of a Word document.

, AP 3R et gy TReamsii Bt T G 8, S SR WR b 9 STagie &) Josid & 91 ol 31

{“ Mail Merge

A 7ol

Table of contents-(Correct Alternative)
Chart

ELC

:A4 Shapes

Rl

Objective Question

A2

A3

196 is a feature in Tally.ERP 9 that allows users to search for suitable candidates, assess knowledge levels using pre-set question
papers on topics that are widely used by the business.

Tally.ERP 9 & U IR g, ST SUANTH 13T Pl SUYdd SHIGARI &1 Wisl B, AU gRT AU U F SUANT fobd S
aral fawa wR gd-fRuffed U3 o= &1 SUART R I & TR BI MH e B $I AT ST g

{3‘1 Knowledge Access

EISERESE
Recruitment Framework-(Correct Alternative)
Rrpeiic had
:A3 Add on Management
TS-3{9 Heie

.A4 Tally on Rental

&eft 3iF Yed

Objective Question

A2

197 ' Tally.ERP 9 consists of the product, a deep and wide partner ecosystem, a set of services that are collectively called

Tauy.ng9ﬁ8ﬂﬁ,@ﬂ€ﬂeﬁ?wwﬂ3ﬁqﬁ@rﬁﬁaﬁaﬁmwww%ﬁ%mq%wﬁ @
NIGIE

! Tally.server

Tally.server

.A2 Tally.B series

Tally.B series

.A3 Tally.NET-(Correct Alternative)

1.0

1.0

1.0

1.0

GET IT ON

Google Play

0.25

0.25

0.25

0.25
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Tally.NET

{%4 Tally.client

Tally.client

Objective Question

198 | The application used for viewing web pages is known as . 1.0 0.25

39 U ST & o IuaT fhu o a1 TRt ol F U H T ATl

fA‘l Window

fast
2 Browser-(Correct Alternative)

SIT3oIRY

'A3 Outlook

3P

Ad Website

CERIE

Objective Question

199 What does CC denote in emails? 1.0 0.25

e § cc T gRiarg?

{&1 Carbon Copy -(Correct Alternative)

HIa BIgt
2
Complete Copy

HUIAIC DUl

A3 Common Copy

DI DITT

{3‘4 Communication Copy

HRAHA HIUT
Objective Question

200 Which of the following is not a search engine? 1.0 0.25

Fufifed 4 3 o1-91 v 9 o 181 82

{U Yahoo

arg

A2 Photoshop-(Correct Alternative)
LariRL
3 Google

DU

Lycos

SIECAR]

Objective Question

A4

201 | The software that detects, prevents and takes action agamst malicious program/code is called 1.0 0.25

I8 ToedTR S gufaTgul PoT/@Ye o1 UdT T 2, Aehel 2 AR ST g HIATE HRar 2, 39 Bﬁ I X i -

! Antivirus-(Correct Alternative)
_AZ Virus

.A3 Malware
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{%4 Firmware
HHITR
Objective Question
202 The built-in anti-virus software in Windows operating system is . 1.0 0.25
faeTe SifoRfe Rygew # siaf-ifed Udl-arRy digecdmR gl

! Windows Manager

IS BAoR

fAZ Windows Defender-(Correct Alternative)

{3‘3 Action Center

TRM &R

{3‘4 Bit locker

foe Al



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

